k27453 A
AR RBEMORH b E
B E B R T
0 C13. SRR T RSB 5, ARSI 59 LT 0 % .

C O, FRR2TAEAN 5y OBLEHEIZIEH S 1 5 REHEE IR Al S KON, £ ORIED ML 225
PRk264E 11 H ~ SERR2TAELH O EIREHERE ST DO L BV HEE L £ L72O TEMLE W LET,

1. FF26F3A1IAREOBARGHRICE I (RHRFBBHF

(1) BRBHE A% Bl (1, Biir)
i 5 AR sy | wmarwans | PRZIESS
TERELT A 1 2> X RY)IDI5KWhE T 22.29 25.63 -3.34
s FRINFE LT B
it NIRRT B
il 15kWh% = % % 1 kWhiz > & 1.49 1.71 -0.22
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EFLst 1kihiz>& 1.49 1.71 -0.22
1IOWETOD 1 4TIZHE X 5.77 6.63 -0.86
H 10WZ Z 220WETO 1 4TIZH& 11.54 13.28 -1.74
20WZ Z Z40WETD 14TIZHE 23.09 26.55 -3.46
40W% Z Z60WE TD 1 ITIZD & 34.63 39.83 -5.20
TERERRLT xT 60WZ Z 2 100WE TD 1 4TIZ D& 57.71 66.37 -8.66
NRATIRAT A 100W4A Z 225 1ITICDE100WE TI &I 57.71 66.37 -8.66
7N 50VAE T 1 H#lc o & 17.24 19.83 -2.59
iE ) 50VA% Z % 100VAE TO 1 iz & 34.48 39.65 -5.17
. ﬁ% 100VAZ Z 2% 1 HEZRIC D E100VAE T LT 34.48 39.65 -5.17
A EDS0VAE TOHA 0.46 0.53 -0.07
il BRI AEAT A K2 RA50VA% Z 2 100VAE TOHE 0.94 1.08 -0.14
(1 HiZo%) FZEAY100VAZ = 2 500VAE TOHE  100VAE TI LT 0.94 1.08 -0.14
it AR BEN500VA% = X IKVAE TOHA 9.30 10.70 -1.40
A IKVAZ = Z3kVAE TOHE  IKVAETI LI 9.30 10.70 -1.40
& — B0 WO A LHIC X 4.90 5.63 -0.73
B LKL EOBA 1kW1 BlcH& 9.78 11.25 -1.47
WREA 1 Mlz-&x 148.61 170.90 -22.29
B4 /10..5kW 2.45 2.82 -0.37
BEEREN BT LKW 4.89 5.62 -0.73
(BB ET) BKIE S 2 kW 9.77 11.23 -1.46
(1 HIZH"%) BHE ] 3 KW 14.66 16.86 -2.20
BRIES 3KWE Z X TKWE S 2L 4.89 5.62 -0.73
MUPHAHR S DA O R SR (EFELT I X ORREHKAT ADEHEIZ OV TORRIEE) O 2% 0 256,
(2) T
et | vEew
R Al R 1kldH7D 56,567M 63,433
W ¥ LN G i # 1tdhizh 94,649 93,569
BB 1tdHih 10,382/ 10,264
RN T RIS 1 k 1720 46,8004 48,000

fpds, PpR264E12 H 24 1 28 SR Al B G5 24T o I ARG RO (HREfH) (ICOWT, PR2TAFE4ARH1H &
FEWIB & LCRAE V-2 ety FELOFRRTAAH 5 ORREH B EARIE, k2742331 H £ TO
RS L ET




2. FR26F12A2ABICERRAIREZITo-ERMEHR (BFEP) [CDOWT, ER2TFELIAIBEEE
HAELTRTZEWV RV -EA0ORMERBEMS
(1) BRBHERE AR (1, BiA)
FRR2T4EAA &
* 7 wreriagin | wersagan | 0 A
DD RS ETOZHEHS
PERFEST A 1 B> E A O 15KIhE T 25.08 22.29 25.63
s g AT B
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i 15kWh#% = % % 1 Kihiz> % 1.67 1.49 1.71
#t
&
NERIDRON 1 KWhiz> & 1.67 1.49 1.71
LOWE TO 1ATIZ D& %1 6.49 5.77 6.63
Gt 10W% = 220WE TO 14TIcoX 13.00 11.54 13.28
20W4 Z Z40WETO 1TICoX 25.98 23.09 26.55
LW = Z60WETO 1ATICH & 38.97 34.63 39.83
ERELT AT 60W 2% Z X 100WE TD 1 41T & 64.95 57.71 66.37
INRATHEAT A 100W# 2 %25 1ATICOX100WE T L0 64.95 57.71 66.37
7 5OVAE TO 1Mo & 19.40 17.24 19.83
E ) 50VA% Z % 100VAE T 1 Bgsiz> 38.80 34.48 39.65
. f& 100VA% = 2% 1 BB DX 100VAE T LI 38.80 34.48 39.65
i
WA TBO0VAE TOHA 0.52 0.46 0.53
il B F AT A A EIS0VA%Z = X 100VAE TOHA 1.05 0.94 1.08
(1 HicH>) A RL3100VAZ & X 500VAE T8 1.05 0.94 1.08
it AR BEN500VA% = X IKVAE TOHA 10.47 9.30 10.70
A TNIKVAZ 2 2 3KVAE TOHE 10.47 9.30 10.70
K e BB 0. 5KND S 1HIC & 5.50 4.90 5.63
B LKL LOBE 1kl Ao 11.00 9.78 11.25
BRIE S AX2 [EESIAeY- 167.23 148.61 170.90
L2479 770..5kW 2.75 2.45 2.82
EARED TS 1 KW 5.51 4.89 5.62
(BRI e ) ST 2 KW 11.00 9.77 11.23
(1RIZD) TS 3 KW 16.50 14.66 16.86
BB 3KWE Z 2 1 KIE 8T 2 &1 5.51 4.89 5.62
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